BID TABULATIONS

Contract No:DH00513

WBS No:17BP.8.R.63

County:Montgomery

Replacement of Bridge No. 36 over Dison Creek on SR 1544 (Calvary Church Road)

Bid Opening Date: 9/27/2022 at 2:00 PM

				Eastern Structures LLC		Smith-Rowe, LLC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$30,000.00	\$30,000.00	\$32,300.00	\$32,300.00
2	Type II Modified Approach Fill, Sta. 12+93.00 -L-	1.00	LS	\$13,000.00	\$13,000.00	\$7,000.00	\$7,000.00
3	Grading	1.00	LS	\$50,000.00	\$50,000.00	\$109,550.00	\$109,550.00
4	Supplementary Clearing & Grubbing	1.00	ACR	\$1.00	\$1.00	\$1.00	\$1.00
5	Geotextile for Soil Stabilization	110.00	SY	\$3.00	\$330.00	\$1.00	\$110.00
6	Foundation Conditioning Material, Minor Structures	10.00	TON	\$35.00	\$350.00	\$1.00	\$10.00
7	Foundation Conditioning Geotextile	20.00	SY	\$3.00	\$60.00	\$1.00	\$20.00
8	15" Drainage Pipe	36.00	LF	\$70.00	\$2,520.00	\$60.00	\$2,160.00
9	Incidental Stone Base	100.00	TON	\$40.00	\$4,000.00	\$33.00	\$3,300.00
10	Incidental Milling	60.00	SY	\$35.00	\$2,100.00	\$28.00	\$1,680.00
11	Asphalt Concrete Base Course, Type B25.0C	220.00	TON	\$126.00	\$27,720.00	\$102.00	\$22,440.00
12	Asphalt Concrete Intermediate Course, Type I19.0C	120.00	TON	\$127.00	\$15,240.00	\$102.00	\$12,240.00
13	Asphalt Concrete Surface Course, Type S9.5B	130.00	TON	\$128.00	\$16,640.00	\$107.00	\$13,910.00
14	Asphalt Binder for Plant Mix	25.00	TON	\$930.00	\$23,250.00	\$900.00	\$22,500.00
15	Masonary Drainage Structure	2.00	EA	\$2,200.00	\$4,400.00	\$1,800.00	\$3,600.00
16	Frame with Two Grates, STD. 840.29	2.00	EA	\$750.00	\$1,500.00	\$385.00	\$770.00
17	Shoulder Berm Gutter	40.00	LF	\$75.00	\$3,000.00	\$90.00	\$3,600.00
18	Steel Beam Guardrail	50.00	LF	\$30.00	\$1,500.00	\$26.00	\$1,300.00
19	Steel Beam Guardrail, Shop Curved	50.00	LF	\$32.00	\$1,600.00	\$28.00	\$1,400.00
20	Additional Guardrail Posts	5.00	EA	\$20.00	\$100.00	\$1.00	\$5.00
21	Guardrail End Units, Type AT-1	1.00	EA	\$1,300.00	\$1,300.00	\$1,100.00	\$1,100.00
22	Guardrail Anchor Units, Type III	4.00 Bid_T	ab EA	\$2,700.00	\$10,800.00	\$2,450.00	\$2,800,00

				Eastern St	ructures LLC	Smith-R	owe, LLC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
23	Guardrail End Units, Type TL-3	3.00	EA	\$3,800.00	\$11,400.00	\$3,500.00	\$10,500.00
24	Rip Rap, Class B	4.00	TON	\$100.00	\$400.00	\$91.00	\$364.00
25	Geotextile for Drainage	204.00	SY	\$3.00	\$612.00	\$2.00	\$408.00
26	Temporary Traffic Control	1.00	LS	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00
27	Thermoplastic Pavement Marking Lines (4", 90 Mils)	100.00	LF	\$75.00	\$7,500.00	\$45.00	\$4,500.00
28	Non-Cast Iron Snowplowable Pavement Marker	2.00	EA	\$750.00	\$1,500.00	\$250.00	\$500.00
29	Temporary Silt Fence	1,490.00	LF	\$4.00	\$5,960.00	\$0.01	\$14.90
30	Stone For Erosion Control, Class A	65.00	TON	\$10.00	\$650.00	\$1.00	\$65.00
31	Stone for Erosion Control, Class B	140.00	TON	\$10.00	\$1,400.00	\$1.00	\$140.00
32	Sediment Control Stone	105.00	TON	\$10.00	\$1,050.00	\$1.00	\$105.00
33	Temporary Mulching	0.50	ACR	\$1,200.00	\$600.00	\$500.00	\$250.00
34	Seed for Temporary Seeding	100.00	LB	\$5.00	\$500.00	\$1.00	\$100.00
35	Fertilizer for Temporary Seeding	0.50	TON	\$1,200.00	\$600.00	\$600.00	\$300.00
36	Temporary Slope Drains	200.00	LF	\$5.00	\$1,000.00	\$5.00	\$1,000.00
37	Safety Fence	320.00	LF	\$5.00	\$1,600.00	\$2.00	\$640.00
38	Silt Excavation	150.00	CY	\$7.00	\$1,050.00	\$3.00	\$450.00
39	Matting for Erosion Control	6,290.00	SY	\$0.10	\$629.00	\$0.01	\$62.90
40	Coir Fiber Mat	100.00	SY	\$10.00	\$1,000.00	\$3.00	\$300.00
41	Permanent Soil Reinforcement Mat	80.00	SY	\$5.00	\$400.00	\$5.00	\$400.00
42	1/4" Hardware Cloth	350.00	LF	\$5.00	\$1,750.00	\$3.00	\$1,050.00
43	Polyacrylamide (PAM)	15.00	LB	\$20.00	\$300.00	\$1.00	\$15.00
44	Seeding and Mulching	0.50	ACR	\$3,500.00	\$1,750.00	\$2,000.00	\$1,000.00
45	Mowing	0.50	ACR	\$200.00	\$100.00	\$1.00	\$0.50
46	Seed for Repair Seeding	50.00	LB	\$5.00	\$250.00	\$2.00	\$100.00
47	Fertilizer for Repair Seeding	0.25	TON	\$1,200.00	\$300.00	\$600.00	\$150.00
48	Seed for Supplemental Seeding	50.00	LB	\$5.00	\$250.00	\$2.00	\$100.00
49	Fertilizer Topdressing	0.50	TON	\$1,200.00	\$600.00	\$600.00	\$300.00
	Specialized Hand Mowing	10.00	MHR	\$50.00	\$500.00	\$1.00	\$10.00
51	Response for Erosion Control	13.00	EA	\$10.00	\$130.00	\$1.00	\$13.00
52	Concrete Washout Structure	2.00	EA	\$750.00	\$1,500.00	\$425.00	\$850.00
74	Removal of Existing Structure at Station 12+93.00 - L-	1.00	LS	\$55,000.00	\$55,000.00	\$45,400.00	\$45,400.00
54	Asbestos Assessment	1.00	LS	\$1,400.00	\$1,400.00	\$1,050.00	\$1,050.00
55	Pile Excavation in Soil	25.00	LF	\$565.00	\$14,125.00	\$650.51	\$16,262.75
56	Pile Excavation Not is Soil	25.00 _{Bid_T}	ab LF	\$565.00	\$14,125.00	\$650.51	\$46 <u>26</u> 2175

				Eastern Structures LLC		Smith-Rowe, LLC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
57	PDA Testing	1.00	EA	\$500.00	\$500.00	\$3,100.00	\$3,100.00
58	Unclassified Structure Excavation at Station 12+93.00 -L-	1.00	LS	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00
59	Class A Concrete (BRIDGE)	29.80	СҮ	\$1,000.00	\$29,800.00	\$1,327.81	\$39,568.74
60	Bridge Approach Slabs, Station -L- 12+93.00	1.00	LS	\$24,000.00	\$24,000.00	\$33,000.00	\$33,000.00
61	Reinforcing Steel (BRIDGE)	4,436.00	LB	\$2.50	\$11,090.00	\$2.18	\$9,670.48
62	Pile Driving Equipment Setup for HP 12X53 Steel Piles	5.00	EA	\$200.00	\$1,000.00	\$683.28	\$3,416.40
63	HP 12X53 Steel Piles	100.00	LF	\$70.00	\$7,000.00	\$94.94	\$9,494.00
64	Steel Pile Points	5.00	EA	\$10.00	\$50.00	\$346.52	\$1,732.60
65	Vertical Concrete Barrier Rail	120.00	LF	\$155.00	\$18,600.00	\$173.68	\$20,841.60
66	Rip Rap Class II (2'-0" Thick)	225.00	TON	\$60.00	\$13,500.00	\$37.00	\$8,325.00
67	Geotextile for Drainage	250.00	SY	\$3.00	\$750.00	\$2.00	\$500.00
68	Elastomeric Bearings	1.00	LS	\$3,000.00	\$3,000.00	\$2,175.00	\$2,175.00
69	3'-0" X 2'-0" Prestressed Concrete Cored Slabs	600.00	LF	\$242.00	\$145,200.00 \$605 832 00	\$245.30	\$147,180.00 \$646 963 62

\$605,832.00

\$646,963.62

Bidder No. 1: Eastern Structures LLCBidder No. 2: Smith-Rowe, LLCDivisionBidder No. 4: R. E. Burns & Sons Co., Inc.Bidder No. 5: Dellinger Inc.Bidder No. 6: Dane Construction, Inc

BID TABULATIONS

Contract No:DH00513

WBS No:17BP.8.R.63

County:Montgomery

Replacement of Bridge No. 36 over Dison Creek on SR 1544 (Calvary Church Road)

Bid Opening Date: 9/27/2022 at 2:00 PM

				APAC-Atlantic, Inc. Thompson-			
	ITEM		LDUTTO		Division		Sons Co., Inc.
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$55,000.00	\$55,000.00	\$34,000.00	\$34,000.00
2	Type II Modified Approach Fill, Sta. 12+93.00 -L-	1.00	LS	\$13,000.00	\$13,000.00	\$7,000.00	\$7,000.00
3	Grading	1.00	LS	\$65,000.00	\$65,000.00	\$109,500.00	\$109,500.00
4	Supplementary Clearing & Grubbing	1.00	ACR	\$10.00	\$10.00	\$1.00	\$1.00
5	Geotextile for Soil Stabilization	110.00	SY	\$5.00	\$550.00	\$1.00	\$110.00
6	Foundation Conditioning Material, Minor Structures	10.00	TON	\$30.00	\$300.00	\$1.00	\$10.00
7	Foundation Conditioning Geotextile	20.00	SY	\$3.00	\$60.00	\$1.00	\$20.00
8	15" Drainage Pipe	36.00	LF	\$50.00	\$1,800.00	\$60.00	\$2,160.00
9	Incidental Stone Base	100.00	TON	\$35.00	\$3,500.00	\$33.00	\$3,300.00
10	Incidental Milling	60.00	SY	\$35.00	\$2,100.00	\$28.00	\$1,680.00
11	Asphalt Concrete Base Course, Type B25.0C	220.00	TON	\$121.00	\$26,620.00	\$102.00	\$22,440.00
12	Asphalt Concrete Intermediate Course, Type I19.0C	120.00	TON	\$133.00	\$15,960.00	\$102.00	\$12,240.00
13	Asphalt Concrete Surface Course, Type S9.5B	130.00	TON	\$140.00	\$18,200.00	\$107.00	\$13,910.00
14	Asphalt Binder for Plant Mix	25.00	TON	\$980.00	\$24,500.00	\$900.00	\$22,500.00
15	Masonary Drainage Structure	2.00	EA	\$2,500.00	\$5,000.00	\$1,800.00	\$3,600.00
16	Frame with Two Grates, STD. 840.29	2.00	EA	\$1,000.00	\$2,000.00	\$385.00	\$770.00
17	Shoulder Berm Gutter	40.00	LF	\$50.00	\$2,000.00	\$100.00	\$4,000.00
18	Steel Beam Guardrail	50.00	LF	\$26.00	\$1,300.00	\$26.00	\$1,300.00
19	Steel Beam Guardrail, Shop Curved	50.00	LF	\$28.00	\$1,400.00	\$28.00	\$1,400.00
20	Additional Guardrail Posts	5.00	EA	\$11.00	\$55.00	\$11.00	\$55.00
21	Guardrail End Units, Type AT-1	1.00	EA	\$1,100.00	\$1,100.00	\$1,100.00	\$1,100.00
22	Guardrail Anchor Units, Type III	4.00 Bid_Ta	b EA	\$2,450.00	\$9,800.00	\$2,450.00	\$\$\$\$00.00

		APAC-Atlantic, Inc. Thompson- Arthur Division			R. E. Burns & Sons Co., Inc.		
ITEM NO.	ITEM	QUANTITY	UNITS	Arthur UNIT PRICE	Division AMOUNT BID	R. E. Burns & UNIT PRICE	Sons Co., Inc. AMOUNT BID
	Guardrail End Units, Type TL-3	3.00	EA	\$3,500.00	\$10,500.00	\$3,500.00	\$10,500.00
	Rip Rap, Class B	4.00	TON	\$50.00	\$200.00	\$91.00	\$364.00
25	Geotextile for Drainage	204.00	SY	\$3.00	\$612.00	\$2.00	\$408.00
25	Temporary Traffic Control	1.00	LS	\$8,000.00	\$8,000.00	\$8,500.00	\$8,500.00
20	Thermoplastic Pavement Marking Lines (4", 90	1.00	LS	\$0,000.00	\$8,000.00	\$8,500.00	\$8,500.00
27	Mils)	100.00	LF	\$50.00	\$5,000.00	\$45.00	\$4,500.00
28	Non-Cast Iron Snowplowable Pavement Marker	2.00	EA	\$1,000.00	\$2,000.00	\$250.00	\$500.00
29	Temporary Silt Fence	1,490.00	LF	\$3.50	\$5,215.00	\$0.01	\$14.90
30	Stone For Erosion Control, Class A	65.00	TON	\$1.00	\$65.00	\$1.00	\$65.00
31	Stone for Erosion Control, Class B	140.00	TON	\$35.00	\$4,900.00	\$1.00	\$140.00
32	Sediment Control Stone	105.00	TON	\$35.00	\$3,675.00	\$1.00	\$105.00
33	Temporary Mulching	0.50	ACR	\$1,000.00	\$500.00	\$500.00	\$250.00
34	Seed for Temporary Seeding	100.00	LB	\$1.00	\$100.00	\$1.00	\$100.00
35	Fertilizer for Temporary Seeding	0.50	TON	\$2.00	\$1.00	\$600.00	\$300.00
36	Temporary Slope Drains	200.00	LF	\$1.00	\$200.00	\$5.00	\$1,000.00
37	Safety Fence	320.00	LF	\$3.00	\$960.00	\$2.00	\$640.00
38	Silt Excavation	150.00	CY	\$1.00	\$150.00	\$3.00	\$450.00
39	Matting for Erosion Control	6,290.00	SY	\$0.01	\$62.90	\$0.01	\$62.90
40	Coir Fiber Mat	100.00	SY	\$10.00	\$1,000.00	\$3.00	\$300.00
41	Permanent Soil Reinforcement Mat	80.00	SY	\$10.00	\$800.00	\$5.00	\$400.00
42	1/4" Hardware Cloth	350.00	LF	\$5.00	\$1,750.00	\$3.00	\$1,050.00
43	Polyacrylamide (PAM)	15.00	LB	\$10.00	\$150.00	\$1.00	\$15.00
44	Seeding and Mulching	0.50	ACR	\$4,000.00	\$2,000.00	\$2,000.00	\$1,000.00
45	Mowing	0.50	ACR	\$2.00	\$1.00	\$1.00	\$0.50
46	Seed for Repair Seeding	50.00	LB	\$1.00	\$50.00	\$2.00	\$100.00
47	Fertilizer for Repair Seeding	0.25	TON	\$100.00	\$25.00	\$600.00	\$150.00
48	Seed for Supplemental Seeding	50.00	LB	\$1.00	\$50.00	\$2.00	\$100.00
49	Fertilizer Topdressing	0.50	TON	\$100.00	\$50.00	\$600.00	\$300.00
	Specialized Hand Mowing	10.00	MHR	\$1.00	\$10.00	\$1.00	\$10.00
51	Response for Erosion Control	13.00	EA	\$1.00	\$13.00	\$1.00	\$13.00
52	Concrete Washout Structure	2.00	EA	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00
53	Removal of Existing Structure at Station 12+93.00 - L-	1.00	LS	\$40,000.00	\$40,000.00	\$39,360.00	\$39,360.00
54	Asbestos Assessment	1.00	LS	\$1,200.00	\$1,200.00	\$3,000.00	\$3,000.00
55	Pile Excavation in Soil	25.00	LF	\$500.00	\$12,500.00	\$1,000.00	\$25,000.00
_	Pile Excavation Not is Soil	25.00 _{Bid_Ta}		\$500.00	\$12,500.00	\$1,000.00	\$25,000,00

				APAC-Atlantic, Inc. Thompson- Arthur Division		R. E. Burns & Sons Co., Inc.	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
-57	PDA Testing	1.00	EA	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00
58	Unclassified Structure Excavation at Station 12+93.00 -L-	1.00	LS	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00
59	Class A Concrete (BRIDGE)	29.80	СҮ	\$1,600.00	\$47,680.00	\$1,200.00	\$35,760.00
60	Bridge Approach Slabs, Station -L- 12+93.00	1.00	LS	\$27,600.00	\$27,600.00	\$26,000.00	\$26,000.00
61	Reinforcing Steel (BRIDGE)	4,436.00	LB	\$1.72	\$7,629.92	\$3.00	\$13,308.00
62	Pile Driving Equipment Setup for HP 12X53 Steel Piles	5.00	EA	\$1,000.00	\$5,000.00	\$1,500.00	\$7,500.00
63	HP 12X53 Steel Piles	100.00	LF	\$94.40	\$9,440.00	\$100.00	\$10,000.00
64	Steel Pile Points	5.00	EA	\$153.00	\$765.00	\$300.00	\$1,500.00
65	Vertical Concrete Barrier Rail	120.00	LF	\$156.25	\$18,750.00	\$225.00	\$27,000.00
66	Rip Rap Class II (2'-0" Thick)	225.00	TON	\$60.00	\$13,500.00	\$37.00	\$8,325.00
67	Geotextile for Drainage	250.00	SY	\$5.00	\$1,250.00	\$2.00	\$500.00
68	Elastomeric Bearings	1.00	LS	\$8,300.00	\$8,300.00	\$3,280.00	\$3,280.00
69	3'-0" X 2'-0" Prestressed Concrete Cored Slabs	600.00	LF	\$285.60	\$171,360.00	\$300.00	\$180,000.00
					\$684 269 82		\$699 767 30

\$684,269.82

\$699,767.30

Bidder No. 1: Eastern Structures LLCBidder No. 2: Smith-Rowe, LLCDivisionBidder No. 4: R. E. Burns & Sons Co., Inc.Bidder No. 5: Dellinger Inc.Bidder No. 6: Dane Construction, Inc

BID TABULATIONS

Contract No:DH00513

WBS No:17BP.8.R.63

County:Montgomery Replacement of Bridge No. 36 over Dison Creek on SR 1544 (Calvary Church Road)

Bid Opening Date: 9/27/2022 at 2:00 PM

			I D UTTO		ger Inc.		struction, Inc
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$35,000.00	\$35,000.00	\$38,980.00	\$38,980.00
2	Type II Modified Approach Fill, Sta. 12+93.00 -L-	1.00	LS	\$15,000.00	\$15,000.00	\$7,500.00	\$7,500.00
3	Grading	1.00	LS	\$95,000.00	\$95,000.00	\$90,000.00	\$90,000.00
4	Supplementary Clearing & Grubbing	1.00	ACR	\$1.00	\$1.00	\$500.00	\$500.00
5	Geotextile for Soil Stabilization	110.00	SY	\$3.50	\$385.00	\$4.00	\$440.00
6	Foundation Conditioning Material, Minor Structures	10.00	TON	\$37.00	\$370.00	\$75.00	\$750.00
7	Foundation Conditioning Geotextile	20.00	SY	\$3.50	\$70.00	\$5.00	\$100.00
8	15" Drainage Pipe	36.00	LF	\$83.00	\$2,988.00	\$40.00	\$1,440.00
9	Incidental Stone Base	100.00	TON	\$35.00	\$3,500.00	\$35.00	\$3,500.00
10	Incidental Milling	60.00	SY	\$30.00	\$1,800.00	\$24.00	\$1,440.00
11	Asphalt Concrete Base Course, Type B25.0C	220.00	TON	\$95.60	\$21,032.00	\$102.00	\$22,440.00
12	Asphalt Concrete Intermediate Course, Type I19.0C	120.00	TON	\$96.85	\$11,622.00	\$102.00	\$12,240.00
13	Asphalt Concrete Surface Course, Type S9.5B	130.00	TON	\$98.22	\$12,768.60	\$107.00	\$13,910.00
14	Asphalt Binder for Plant Mix	25.00	TON	\$925.00	\$23,125.00	\$900.00	\$22,500.00
15	Masonary Drainage Structure	2.00	EA	\$1,800.00	\$3,600.00	\$1,975.00	\$3,950.00
16	Frame with Two Grates, STD. 840.29	2.00	EA	\$800.00	\$1,600.00	\$975.00	\$1,950.00
17	Shoulder Berm Gutter	40.00	LF	\$65.00	\$2,600.00	\$45.00	\$1,800.00
18	Steel Beam Guardrail	50.00	LF	\$26.00	\$1,300.00	\$26.00	\$1,300.00
19	Steel Beam Guardrail, Shop Curved	50.00	LF	\$28.00	\$1,400.00	\$28.00	\$1,400.00
20	Additional Guardrail Posts	5.00	EA	\$11.00	\$55.00	\$11.00	\$55.00
21	Guardrail End Units, Type AT-1	1.00	EA	\$1,100.00	\$1,100.00	\$1,100.00	\$1,100.00
22	Guardrail Anchor Units, Type III	4.00 Bid_Ta	b EA	\$2,450.00	\$9,800.00	\$2,450.00	r\$9,800.00

				Dellin	ger Inc.	Dane Cons	truction, Inc
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
23	Guardrail End Units, Type TL-3	3.00	EA	\$3,500.00	\$10,500.00	\$3,500.00	\$10,500.00
	Rip Rap, Class B	4.00	TON	\$55.00	\$220.00	\$100.00	\$400.00
	Geotextile for Drainage	204.00	SY	\$3.50	\$714.00	\$4.00	\$816.00
26	Temporary Traffic Control	1.00	LS	\$21,000.00	\$21,000.00	\$12,000.00	\$12,000.00
27	Thermoplastic Pavement Marking Lines (4", 90 Mils)	100.00	LF	\$20.00	\$2,000.00	\$20.00	\$2,000.00
28	Non-Cast Iron Snowplowable Pavement Marker	2.00	EA	\$250.00	\$500.00	\$250.00	\$500.00
29	Temporary Silt Fence	1,490.00	LF	\$4.00	\$5,960.00	\$4.51	\$6,719.90
30	Stone For Erosion Control, Class A	65.00	TON	\$1.00	\$65.00	\$45.00	\$2,925.00
31	Stone for Erosion Control, Class B	140.00	TON	\$42.00	\$5,880.00	\$45.00	\$6,300.00
32	Sediment Control Stone	105.00	TON	\$37.00	\$3,885.00	\$40.00	\$4,200.00
33	Temporary Mulching	0.50	ACR	\$1,800.00	\$900.00	\$2,375.00	\$1,187.50
34	Seed for Temporary Seeding	100.00	LB	\$2.00	\$200.00	\$7.60	\$760.00
35	Fertilizer for Temporary Seeding	0.50	TON	\$100.00	\$50.00	\$2,137.50	\$1,068.75
36	Temporary Slope Drains	200.00	LF	\$1.00	\$200.00	\$10.00	\$2,000.00
37	Safety Fence	320.00	LF	\$3.00	\$960.00	\$3.33	\$1,065.60
38	Silt Excavation	150.00	CY	\$10.00	\$1,500.00	\$15.00	\$2,250.00
39	Matting for Erosion Control	6,290.00	SY	\$2.65	\$16,668.50	\$2.61	\$16,416.90
40	Coir Fiber Mat	100.00	SY	\$7.00	\$700.00	\$11.88	\$1,188.00
41	Permanent Soil Reinforcement Mat	80.00	SY	\$10.00	\$800.00	\$11.88	\$950.40
42	1/4" Hardware Cloth	350.00	LF	\$5.00	\$1,750.00	\$7.13	\$2,495.50
43	Polyacrylamide (PAM)	15.00	LB	\$12.00	\$180.00	\$20.00	\$300.00
44	Seeding and Mulching	0.50	ACR	\$2,500.00	\$1,250.00	\$4,275.00	\$2,137.50
45	Mowing	0.50	ACR	\$25.00	\$12.50	\$285.00	\$142.50
46	Seed for Repair Seeding	50.00	LB	\$2.00	\$100.00	\$23.75	\$1,187.50
47	Fertilizer for Repair Seeding	0.25	TON	\$100.00	\$25.00	\$2,137.52	\$534.38
48	Seed for Supplemental Seeding	50.00	LB	\$2.00	\$100.00	\$23.75	\$1,187.50
49	Fertilizer Topdressing	0.50	TON	\$100.00	\$50.00	\$2,137.50	\$1,068.75
	Specialized Hand Mowing	10.00	MHR	\$25.00	\$250.00	\$166.25	\$1,662.50
51	Response for Erosion Control	13.00	EA	\$25.00	\$325.00	\$50.00	\$650.00
52	Concrete Washout Structure	2.00	EA	\$302.56	\$605.12	\$2,750.00	\$5,500.00
2.5	Removal of Existing Structure at Station 12+93.00 - L-	1.00	LS	\$40,000.00	\$40,000.00	\$46,750.00	\$46,750.00
54	Asbestos Assessment	1.00	LS	\$600.00	\$600.00	\$1,050.00	\$1,050.00
55	Pile Excavation in Soil	25.00	LF	\$315.00	\$7,875.00	\$425.00	\$10,625.00
56	Pile Excavation Not is Soil	25.00 _{Bid_Ta}	b LF	\$315.00	\$7,875.00	\$425.00	\$49.625.90

				Dellinger Inc.		Dane Construction, Inc	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
-57	PDA Testing	1.00	EA	\$2,500.00	\$2,500.00	\$1,925.00	\$1,925.00
58	Unclassified Structure Excavation at Station 12+93.00 -L-	1.00	LS	\$4,000.00	\$4,000.00	\$15,375.00	\$15,375.00
59	Class A Concrete (BRIDGE)	29.80	СҮ	\$1,500.00	\$44,700.00	\$1,750.00	\$52,150.00
60	Bridge Approach Slabs, Station -L- 12+93.00	1.00	LS	\$25,000.00	\$25,000.00	\$22,000.00	\$22,000.00
61	Reinforcing Steel (BRIDGE)	4,436.00	LB	\$2.00	\$8,872.00	\$2.75	\$12,199.00
62	Pile Driving Equipment Setup for HP 12X53 Steel Piles	5.00	EA	\$1.00	\$5.00	\$2,250.00	\$11,250.00
63	HP 12X53 Steel Piles	100.00	LF	\$55.00	\$5,500.00	\$61.75	\$6,175.00
64	Steel Pile Points	5.00	EA	\$200.00	\$1,000.00	\$475.00	\$2,375.00
65	Vertical Concrete Barrier Rail	120.00	LF	\$275.00	\$33,000.00	\$225.00	\$27,000.00
66	Rip Rap Class II (2'-0" Thick)	225.00	TON	\$49.00	\$11,025.00	\$64.00	\$14,400.00
67	Geotextile for Drainage	250.00	SY	\$3.50	\$875.00	\$4.00	\$1,000.00
68	Elastomeric Bearings	1.00	LS	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00
69	3'-0" X 2'-0" Prestressed Concrete Cored Slabs	600.00	LF	\$325.00	\$195,000.00	\$350.00	\$210,000.00
					\$714.293.72		\$779.608.18

\$/14,293.72

\$779,608.18

Bidder No. 1: Eastern Structures LLC Bidder No. 2: Smith-Rowe, LLC Division Bidder No. 4: R. E. Burns & Sons Co., Inc. Bidder No. 5: Dellinger Inc. Bidder No. 6: Dane Construction, Inc